Extra Practice

Chapter 2

2.1 Evaluate the expression.

1. —V36 2. +V400 3. V6400 4, +V144

2.1 Approximate the square root to the nearest integer.

5. V135 8. —\V75 7. —V160 8. V250

Solve the equation. Check your solution.

22 9. x+4=20 10. 8 = m — 13 1. t+2=-10 12. z-8=-7
13. 7h = 63 14. —4f A4 15. :’1 13 1G. "F,i i

2.3 17. 4x+ 3 =27 18. 6m —4 = 14 19. 50 = 7y — 6
20, :: 3=9 2L Z+3=-2 22, Gp — 2p — 28

2.4 23 6x+3x+8B=135 24, 12w — 5 — 3w =40 25, 4d — 3 — 2d = 15
26. Tm + 3m + 2) = 24 27. 5x — 3(x — 5) = 13 28. 32y - 8) = 6

25 29. 8x - 4=3x+6 30. 10 — 2x = 3x - 20 3l. 5-5x=14 - 8x
32, 3(2y — 5) =4y — 7 33. 9+ 4y = 2(3 — y) 34. 3x - 3 = 3(2x + 12)

2.6 Solve the proportion. Check your solution.

T x 6. ] i 17, z 48 38 20 i

35':-3 16 9 27 i 12 50 10

2.6 Write the sentence as a proportion. Then solve the proportion.
39, Histo7as15istox. 40. 9isto 3 asxis to 12.

41, gisto9as16isto 12. 42, Gisto 18as yistod.

2.7 Solve the proportion. Check your solution.

12 _ 6 6x 18 7 4 Y¥to 10
43. X 4. FI T 45. x+13 12 48, ¥ 8

2x+6_ T 3h i 8 G 48-2x 04 +x
i S g 8 = =1 BT BT 5%E T o

2.8 Solve the literal equation for x. Then use the solution to solve the specific
equation.

5l. ax—b=¢;6x—5=25 52, alb—x) =¢; 2(8 - x) i

2.8 Write the equation so that y is a function of x.

53. 5x+y=10 54, 8x — 2y = 16 55. 7x+3y=6—-5¢ B56. 21 =6x+ Ty
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